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STUDY  OF BAR  BODIES  (SEX  CHROMATIN )  IN HUMAN CELLS.
         Normal females possess two X chromosomes, and in any given cell one chromosome will be active (designated as Xa) and one will be inactive (Xi). However, studies of individuals with extra copies of the X chromosome show that in cells with more than two X chromosomes there is still only one Xa, and all the remaining X chromosomes are inactivated. This indicates that the default state of the X chromosome in females is inactivation, but one X chromosome is always selected to remain active.
       X-inactivation (also called lyonization) is a process by which one of the two copies of the X chromosome present in female mammals is inactivated. The inactive X chromosome is silenced by packaging into transcriptionally inactive heterochromatin. X-inactivation occurs so that the female, with two X chromosomes, does not have twice as many X chromosome gene products as the male, which only possess a single copy of the X chromosome .
 DNA packaged in heterochromatin, such as the Xi, is more condensed than DNA packaged in euchromatin , such as the Xa. The inactive X forms a discrete body within the nucleus called a Barr body. The Barr body is generally located on the periphery of the nucleus, is late replicating   X chromosome   within the cell cycle, 

Bar bodies present in the following places in human body:-

1-Blood smear   2- Buccal cavity             3-Hair root        4-Vaginal smear

                                                   5- Amniotic fluid
{NO .of sex chromatin = NO. of  chromosome X -1 }
In buccal cavity it appears with the following shapes:
1-sperical   2- Hemispherical       3-Triangular     4-Irregular shape
In neutrophil   sex chromatin  appear  with the following shapes:
1- Single drum stick              2- Double drum stick 
3-Sissel nodules                    4- Tear drop shape
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